HQ Pakistan Rangers (Sindh) Muslim Jinnah Courts Dr. Zia Ud Din Ahmed Road, Karachi Tel 99205285 No.2131/Q/ 77 /2017

February 2017

To:

Sindh Secretariat 4A Barrel No.8 SPPRA Office Court Road Karachi

Ph:021-99205356

Information: Sec HQ Shahbaz Rangers

Subject:

Advertisement of Tender Notice on SPPRA Website

- Following documents are sent herewith for down loading of subject tender on SPPRA Website :-
 - Tender Notice is Urdu. a.
 - Tender Notice in English.
 - Govt Bank Pay order No. NBP No.02287529 dated 10 February 2017 for Rs.2000/- (Rupees two thousand in favour of Director SPPRA Karachi.
 - d. Proposed Procurement Plan Under Head A03370-Other (IS Budget) FY 2016-17.
 - Order of Procurement and Inspection Committee. e.
 - f. Invitation of Tender Form.

Forward for information / necessary action, please.

Enclosure: (08)

for Director General (Abdullah Daim)

(3)

سير هيد كوار نرزشهباز رينجرز بيراج كانوني ملوى روؤ سحسر فون نمبر 9310436 -071

ثيية راوش

- 1- سیکڑھیڈ کو ارٹرزشہباز رینجرز بیر اج کانونی ملڑی روڈ سکھر واٹر مینظرز اسمو منز کے جنزل آرڈرسپلا ئیزر کے پانی کی ادائیگی برائے ایڈم ایرید شکار پوراروڈ سکھر، آفس بلاک بیراج کانونی ملٹری روڈ سکھر اور روبڑی میگزین کے لیے مور خدائی 2017 ہے۔ سربمبرٹینڈر مطلوب ہیں جو کہ مور خد 16 مارچ 2017 کو 1300 میلے کھولے جائیں گے۔
- 2۔ شینڈر فارم بمعہ شراکا وضو ابط ودیگر تفسیلات بعوض-/500 پانچ سورد پے (نا قابل والهی) اواکرنے پر سیکڑ سیڈ کو ارٹرز شہباز ریخبر ز بیراج کالوئی ملڑی روز سکھر سور ند 28 فروری 2017 تا 16 مارچ 2017 تک دفتری او قات میں حاصل کے جاسکتے ہیں۔ ٹینڈر ق (مکمل) 16 مارچ اوقت 1200 بجے تک جی کروائے جاسکتے ہیں۔ ٹینڈرای دن 1300 بیجے کھولے جائیں گے۔
 - 3- سیکڑ کمانڈر شہبازر یغبرز کو بمطاق ایس پی پی آر اے کے تحت یہ حق حاصل ہے کہ وہ کوئی بھی ایک یا تمام شیزر منظوریا مسترد کردیں۔
 - 4- مز گوره بالامنیژر نونس SPPRA کی دیب ساتیت پر بھی دستیاب ہے۔
 - 5- مزید معومات کے لیے کیلی فون نمبر 9310436-071 دفتری او قات میں رابطہ کیا جاسکتا ہے۔
- 6۔ شمولیت کے خواہشند سپلائیر اورڈیلرز حضرات کا سپلز کیس اور انکم قبیس ڈیپا ٹمنٹ کے ساتھ رجسٹر ہونال زم ہے۔ تفییر فارم کے ساتھ رجسٹریشن سر فیفکیٹ کی تقسد میں شدہ کا پیال منسلک کرناہوں گی اور FBR کے ساتھ فعال فیکس اواکر نے والے کی فیر ست (ALT) میں ہونہ منر ورک ہے۔
 - 7- اس کے علاوہ سندہ رہو نیو بورڈ کے ساتھ رجسٹریشن بھی لازی ہے۔

سرنیٹنڈنٹ رکیجبئز ڈی اے اے کھ کیوائیم جی (خالد عماس)

SECTOR HEADQUARTERS SHAHBAZ RANGERS BARRAGE COLONY MILITARY ROAD SUKKUR

TENDER NOTICE

- Sealed tenders are invited from water tankers services from General order suppliers for provision of drinking water at Administrator Area Shikarpur road Sukkur, Office Block Barrage Colony Military road Sukkur Sector Headquarter Shahbaz Rangers and Rohri Magazine Sector Headquarter Shahbaz Rangers, 31 Wing Larkana, 52 Wing Kandhkot and 81 Wing Khairpur for the period from March 2017 to 30 Jun 2017 The tender will be opened on 16 March 2017 at 1300 hours.
- Tender form with terms and condition and other details can be obtained on payment for Rs 500/- (non refundable) from 28 February 2017 to 16 March 2017 in office hours (on working day) from Sector Headquarters Shahbaz Rangers Sukkur. Tender form (complete) will be deposited on 16 March 2017 till 1200 hours and tender will be opened at 1300 hours on the same day
- 3 Sector Commander Shahbaz Rangers Sukkur has the right to accept or reject any or all tenders as per SPPRA Rules.
- 4 Tender will be availed on SPPRA Web Site.
- For further information, please contact on telephone number 071-9310436 during office hours.
- 6. Distributors and sale Agents desirous to participate in tender should be registered with Sales Tax and Income Tax Departments. Attested copies of Registration Certificates will be attached while depositing the Tender Form and must be in the Active Tax Payer list ALT with FBR.
- 7 Moreover, Distributors and Sales Agents will also be registered with Sindh Revenue Board Karachi.

Superintendent Rangers for Sector Commander (Khalid Abbas)

PROPOSED PROCUREMENT PLAN UNDER HEAD A03370 - OTHER (IS BUDGET) FY 2016-17 (SHAHBAZ RANGERS)

Ser	Wing	Location	Number of Troops Deployed / Members residing	Measurement / Capacity of Existing Water Tanks			Proposed Trips	Duration of W/Bowzer	Proposed Capacity of	Total Number	Est Price per Water	Total Cost (Rs)
				Tank-1 20000 Gln	Tank-2 15000 Gln	Tank-3 10000 Gln	Required on Daily Basis	Required	each Bowzer required (GIn)	of Trips	Tanker (Rs)	
1.	Sector HQ Shahbaz	Office Block	200		1	-	3	20 Mar to 30 Jun 2017	4000	93	3000/-	279000.00
	Rangers	Administration Area Sukkur	250	1	-	-	4	-do-	4000	124	3000/-	372000.00
		Sindh Rangers Hospital Sukkur		-		1	2	-do-	4000	62	3000/-	186000.00
		Rangers Officer Club Sukkur	50	-	1 -	1	1	-do-	4000	31	3000/-	93000.00
		Rohri Magazine	40	1 -	1	1	1	-do-	4000	31	3000/-	93000.00
		Family Quarter Jail Colony Sukkur	150	1-	1	-	3	-do-	4000	93	3000/-	279000.00
		Family Quarters Administration Area Sukkur	100	-	-	1	1	-do-	4000	31	3000/-	93000.00
		Boys Hostel / Troops Family Welfare Centre	50	-	-	1	1	-do-	4000	31	3000/-	93000.00
		Shahbaz Rangers House Guard	10	-	-	1	-1	-do-	4000	4	3000/-	12000.00
2.	31 Wing	Wing Headquarters Larkana	189	1	1 -	-	1	-do-	4000	31	3000/-	124000.00
		QRSC&S Larkana	150	1	-	1	-	-do-	5000	1 -	4000/-	4000,00
		A Company Larkana	65	1	-	1	1	-do-	4000	31	2500/-	77500.00
		B Company Madeji Larkana	50	-	1 -	1	1	-do-	4000	31	2500/-	77500.00
		C Company Shikarpur	55	-	-	1	1	-do-	3000	31	2000/-	62000.00
		D Company Shahdadkot	75	-	1	-	i	-do-	5000	31	5000/-	155000.00
3.	52 Wing	Wing Headquarters Kandhkot	246	1	1 -	1 -	1	-do-	5000	31	5000/-	155000.00
		A Company	60	+	-	1	1	-do-	3000	31	3000/	93000.00
		B Company	70	1	-	1 -	1	-do-	4000	31	3500/-	108500.00
		C Company	60	1 -	1	-	1	-do-	5000	15	4500/-	67500.00
		D Company	65	1	-	-	1 1	-do-	4000	19	4000/	76000.00

Tank-3

10000

Gln

10000

10000

10000

Proposed

Trips

Required

on Daily

Basis

4

1

1

Duration of Capacity of

each Bowzer

required

(Gin)

5000

5000

5000

5000

W/Bowzer

Required

20 Mar to 30 Jun 2017

-do

-do-

-do- '

3)

Tank-1

20000

Gln

20000

20000

20000

20000

Number of

Deployed I

Members

residing

323

110

108

108

Troops

Measurement / Capacity of

Existing Water Tanks

Tank-2

15000

Gln

15000

15000

15000

15000

30,00,000.00

		1	5	1
	/		A	1
			XX	
			DAA&	MG
(Muhamn	nad Ar	iwar i	Zeb S	iah)

Wing Headquarters / D Company

Wing

81 Wing

Ser

Location

Khairpur Wir's

A Company

B Company

C Company



Accts Offrs (Abdul Samad)

Sec Comd (Imtiaz Hussain)

Est Price

per Water

Tanker (Rs)

2300

2400

2400

2200

G.Total;

Total

Number

124

31

31

30

of Trips |

6

Feb. 2017 12:02

FROM :

ORDER

A Board of Offrs, Inspr/SI as mentioned below has been detailed for procurement of Water Tankers from Services / General Order Suppliers for provision of drinking water at Administrator Area Shikarpur road Sukkur, Office Block barrage colony military road Sukkur Sector HQ, Rohri Magazine, Larkana, Kandhkot and Khairpur for the period from 20 Mar 2017 to 30 June 2017. The committee will procure the Water Tankers and further distribute to the locations as mentioned in proposed procurement plan on the subj. Composn of committee are as under:-

Procurement Committee

(1) President:

SR Khalid Abbas

(2) Members:

DSR Muhammad Afzai

Inspr Muhammad Yasin

SI Shahid Abbas' Khan

Insp Committee

(1) President:

SR Abdul Samad

(2) Members:

DSR Lugman Hakeem

Inspr Riaz Ahmed Faiz

SI Shariq Rizwan

2. The Committee will also ensure processing of contingent bills.

SEC HQ SHAHBAZ RANGERS SUKKUR No 5000/Q/ >97 dated 16 Feb 2017

(Khalid Abbas)

Copy to:-.

President

2 Members

3 File

Atti Inupy Idrees wasti 88 08 Q Branch PR(S)



GOVERNMENT OF PAKISTAN SHAHBAZ RANGERS SUKKUR INVITATION OF TENDER

To:

M/S

Subject:

Tender Notice No.03302/Water/

Dated

2017

You are invited to send sealed tender by 1200 hours on 16 mand 2017 for provision of drinking water tankers at Sukkur, Khairpur, Larkana and Kandhkot for Sector Headquarters Shahbaz Rangers Sukkur, 81 Wing, 31 Wing and 52 Wings Shahbaz Ranges.

- Rate should be quoted F.O.R destination Administration Area Shahbaz Rangers Sukkur, Khairpur, Larkana and Kandhkot for Sec Sector Headquarter Shahbaz Rangers, 81 Wing, 31 Wing and 52 Wing Shahbaz Rangers.
- Price should be inclusive of all taxes duties and charges of packing, marking and handling etceteras. Quotation indicating sale tax / other taxes separately will be rejected.
- 3. Sale tax payer's certificate and income tax certificate for the current financial year duly attested should accompany the tender as per government of Pakistan, Finance division's instructions; otherwise the offer will be ignored / rejected.
- Tender should be accompanied with call deposit or bank draft of Pay order in the name of Sector Commander Shahbaz Rangers as earnest Money as per following rates, otherwise tender will be ignored / rejected.
 - Firms registered with Pakistan 2% of total value of the tender Rangers (Sindh)
 - at the quoted by
 - b. By un-registered firm
- 3% of total value of the tender at the rate quoted by
- On acceptance of tender, the successful tenders will have to deposit security deposited equal 5% value of contract within 3 days after receipt of advance acceptance of tender in shape of pay order in the favour of Sector Commander Shahbaz Rangers, 5% will be returned on successful delivery of stores / warranty & guarantee period.
- 6 The call Deposit / Bank Draft / Pay Order Deposit with tenders on account of earnest money will be returned to the participant in case of non acceptance of tender within fortnight after the date of Opening Tenders.
- The tender will be opened on 16 March 2017 at 1300 hours, You are at 7. liberty to be present or authorized a representative to be present at the time of opening of the tender at the date and time as specified above.
- Items are required to be delivered within one week or earlier form the date of 8 opening of tenders.
- The offer will remain open for acceptance for a period of one month from the date 9. of opening of tenders.
- 10 The Sector Commander Shahbaz Rangers reserve the rights to accept or reject any or all tenders without assigning any reason.

- 11. The Sector Commander Shahbaz Rangers does not pledge himself to accept the lowest of any tender and reserves himself the right of accepting the whole or any part of the tender or portion of the quantity offered and you all supply the same on rate quoted. You are at liberty to tender for the whole or any portion or the state in the tender that the rate quoted shall apply only if the entire quantity is taken from you.
- The individual signing tender or other document must specify the capacity in which he is signing the tender documents following etceteras "(Sole Proprietor / Partner)" etceteras:
- 13. The prices should be quoted both in words and figures.
- 14. In case tender is accepted and supplies made as per orders' the amount of sale tax and income tax (if applicable) would be deducted from the amount payable to the Frim. Otherwise you would have to provide documentary proof of these Government dues have been paid to the Government at the time of submission of the relevant bill.
- Cutting / erasing / over writing and misprints etceteras, of entries / rates shown in the tender will not be entertained for consideration.
- 16. Firm will not be allowed to either withdraw his quotation or refuse to accept the award of contract / advance notice. Firm, which withdraw his offers and refuse to accept contract / advance acceptance notice, his earnest money will be confiscated.
- Alternate offers are not acceptable. Complete offer having alternate rates will be rejected.
- 18. The Sector Commander Shahbaz Rangers reserve the right to terminate the contract at any time by giving one month's notice in writing to the contractor / firms without any liabilities, what-so-over, which shall not be challengeable in any court of law.

Dated Feb 2017

DAA&QMG Shahbaz Rangers

ACCEPTANCE BY THE FORM / CONTRACOTOR

Above term and condition are understood and hereby accepted

Dated Feb 2017

Signature with stamp Of Proprietor Representative